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SOLUTION DE EXAMEN DE 25ME SEMESTRE
Exercice 01 (08 pts)
Table de vérité de soustracteur complet (1.5 pts)
A B R S R’ S
0 0 0 0 0 S0
0 0 1 1 1 S1
0 1 0 1 1 S2
0 1 1 0 1 S3
1 0 0 1 0 S4
1 0 1 0 0 S5
1 1 0 0 0 S6
1 1 1 1 1 s7
S = ABR+ABR+ABR+ABR (01 pts)
R’= ABR+ABR+ABR+ABR (01 pts)
SO=ABR, S1= ABR, 52= ABR , 53= ABR , S4= ABR, S5= ABR, S6= ABR, S7=ABR (01 pts)
S=S1+S2 +S4 +S7 (01 pts)
R’ = S1+S2+S3+S7 (01 pts)
S1
:>_> S
S2
A —
S3
sa (1.5 pts)
B —
R ——
i)_> R’
s7 b——
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Exercice 02 (12 pts)

Q Q+ J J
0 0 0 X
0 1 1 X (01 pts)
1 0 X 1
1 1 X 0
Q2 Q1 Q0 J2 K2 J1 K1 JO KO
0 0 0 0 0 X 0 X 1 X
1 0 0 1 0 X 1 X X 1
2 0 1 0 0 X X 0 1 X
3 0 1 1 1 X X 1 X 1
4 1 0 0 X 0 0 X 1 X
5 1 0 1 X 1 0 X X 1
6 1 1 0 X X X X X X
7 1 1 1 X X X X X X
00 |01 11110 00 (01|11 10
0 X | 1 0| x| x| X
1 L | x 1 [X I x [ x]1]
J2= Q2+Q1Q0 (01 pts) K2=Q0 (01 pts)
00 |01 |11 10 00 (01|11 |10
0 X | X 0 | x X | x
1 (1] x [Jx 1 (x| 1 [ X | x
J1=Q02Q0 (01 pts) k1= Q0 (01 pts)
00 |01 11110 00 (01|11 10
o1 |1 |X]|1 0O [IX | x | X | x
1 X | X | x 1111 X |1
J1=1 (01 pts) kl=1 (01 pts)

Circuit (02pts)
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(03 pts)



